
90 Questions

Que. 1 Kalka constituency comes under the district of

Correct Option - 2

Ambala1.
Panchkula2.
Rohtak3.
Karnal4.

Que. 2 ______ river is believed to be the part of sapta sindhu region.

Correct Option - 4

Yamuna1.
Saraswati2.
Markanda3.
Sahibi4.

Que. 3 To promote sustainable development Haryana developed a Forest Policy in the year

Correct Option - 1

20061.
20162.
20143.
20184.

Que. 4 Pinjore Gardens is also called as

Correct Option - 2

Vrundavan1.
Yadavindra gardens2.
Nandanavana3.
Rose gardens4.

Que. 5 ______ is the main soil problem in Haryana.

Drought1.
Soil erosion2.
Earthquake3.
Flood4.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076


Correct Option - 2

Que. 6 Consider the following statement about River Dolphin.

Correct Option - 4

They are found in Gangetic Brahmaputra river basin.1.
Locally they are called 'Susu'2.
They are a blind species3.
All the above4.

Que. 7 ______ said Haryana is derived from the word 'Aryana'

Correct Option - 1

Dr. H. R. Gupta1.
Rahul Shandrityayana2.
Satish Dwivedi3.
Chahamana4.

Que. 8 The type of mirror used in solar furnace is

Correct Option - 2

Convex mirror1.
Concave mirror2.
Cylindrical mirror3.
Plane mirror4.

Que. 9 Theme of 2018 International Yoga Day is

Correct Option - 1

Yoga for peace1.
Yoga for better health2.
Yoga for wellbeing3.
Yoga for happiness4.

Que. 10 ______ is an ingredient in antacids.

Correct Option - 3

Na2CO31.

Na2CO3.10H2O2.

NaHCO33.

NH4Cl4.
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Que. 11 The agricultural practice which is done under silviculture is

Correct Option - 4

Growing medicinal and aromatic shrubs1.
Growing pasture land2.
Growing grassland3.
Development and care of forest4.

Que. 12 The evidence of History of Haryana is not found at

Correct Option - 3

Ashoka Pillar1.
Chaneti Stupas2.
Sanchi Stupas3.
Stupas at Thaneshwar4.

Que. 13 In Mahabharata Haryana is called Bahudhana. Bahudhana means ________.

Correct Option - 3

Land of Gods1.
Land of grains2.
Land of immense riches3.
Land of agriculture4.

Que. 14 Find the number which is not like the other 3 numbers.

Correct Option - 3

641.
1252.
2203.
3434.

Que. 15 Haryana has a history going back to the Vedic Age, which was the home of the Legendary ______
Dynasty.

Correct Option - 3

Mughal1.
Slave2.
Bharata3.
Nizam4.
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Que. 16 Which of the following committees was set up to make recommendation about Fundamental Duties?

Correct Option - 2

Gadgil Committee1.
Swaran Singh Committee2.
Santhanam Committee3.
J. S. Verma Committee4.

Que. 17 Solutions of the equation

4x2 - 4a2x + (a4 - b4) = 0 are

Correct Option - 1

1.
,

−a2 b2

2

+a2 b2

2
a + b, a - b2.

2a2b + b2, 2ab3.

0, 04.

Que. 18 During the excavation of Harappan civilization King's crown was discovered in

Correct Option - 3

Banawali1.
Rakhigarhi2.
Kunal3.
Agroha4.

Que. 19 Which of these provisions of the Constitution, reveal the secular character of the Indian State?
1. Preamble

2. DPSPs
3. Fundamental Rights
Choose the right code.

Correct Option - 3

1 and 31.
1 and 22.
All the above3.
2 and 34.

Que. 20 During which year Sacchar formula was introduced?

19471.
19482.
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Correct Option - 3

19493.
19464.

Que. 21 If 'YES' is coded as '49', 'NO' is coded as

Correct Option - 1

291.
192.
393.
254.

Que. 22 Two conducting wires of the same material of equal lengths and equal diameters are first connected in
series and then in parallel in a circuit across the same potential difference. The ratio of heat produced in

parallel to series combinations would be

Correct Option - 4

1 ∶ 21.
2 ∶ 12.
1 ∶ 43.
4 ∶ 14.

Que. 23 Consider the following statements about the coastal plains of India.
1. The western Coastal plains are an example of submerged coastal plain.

2. Eastern Coastal plains provide for the natural condition for the development of ports and harbours.
3. Eastern coastal Plain is broader and is an example of an emergent coast.
4. Eastern Coastal Plain well developed deltas here, formed by the rivers flowing eastward in to the Bay of
Bengal.
Select the answer code.

Correct Option - 4

1 and 41.
2 and 32.
3 only3.
1, 3 and 44.

Que. 24 In Δ ABC, AB = √21 cm, AC = 9 cm and BC = 2√15 cm then ∠B is

120°1.
60°2.
90°3.
45°4.
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Correct Option - 3

Que. 25 During 2016, Haryana agreed with ______ country to enter a sister statehood relationship for
development.

Correct Option - 3

America1.
Britain2.
South Korea3.
Canada4.

Que. 26 Which of the following is not a factors of production?

Correct Option - 2

Fixed capital1.
Working capital2.
Dividend earned by entrepreneur3.
None of the above4.

Que. 27 If the equations 3x - ay = 9 and x + y = 3 represent the same line then a = 

Correct Option - 3

31.
-12.
-33.
none of these4.

Que. 28 Rani Jhansi Marine National park is situated in_____.

Correct Option - 3

Tamil Nadu1.
Pondicherry2.
Andaman and Nicobar Islands3.
Lakshadweep4.

Que. 29 The value of cot 12° cot 38° cot 52° cot 60° cot 78° is

01.
12.

3. 1

2
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Correct Option - 4

4. 1

3–√

Que. 30 Majaalis Ulnisa was written by

Correct Option - 1

Altaf Hussain Haali1.
Adnan Hussain2.
Ali Khan3.
Syed Irshad4.

Que. 31 Consider the following and choose the right one.

Correct Option - 4

Radclife line - between Pakistan and Afghanistan1.
McMohon line - Between India and Pakistan2.
Both 1 and 2 are right3.
Both 1 and 2 are wrong4.

Que. 32 A person walks 10 km South taking left turn walks 12 km, again turning left walks 15 kms. How far is
he from the starting point?

Correct Option - 2

17 km1.
13 km2.
15 km3.
none of these4.

Que. 33 If P(E) = 0.38 then probability of 'not E' is

Correct Option - 3

0.721.
0.732.
0.623.
0.54.

Que. 34 Four cubes each of side 4 cm are joined end to end. The surface area of the resulting solid is

144 cm21.

16 cm2. 2

288 cm3. 2
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Correct Option - 3

none of these4.

Que. 35 Haryana comes second after ______ in cattle breeding in India.

Correct Option - 3

Karnataka1.
Punjab2.
Gujarat3.
Tamil Nadu4.

Que. 36 Read the following statements.
1. At present in India there are more than: 750 universities,

2. Sarva Siksha Abhiyan is aimed at providing elementary education to all children in the age group of 7-14
years.
Select the right answer code.

Correct Option - 1

Both are wrong1.
1 only2.
Both are right3.
2 only4.

Que. 37 Complete the anaanalogylogy.
Magazine : Editor :: Drama : ?

Correct Option - 1

Director1.
Hero2.
Heroine3.
Painter4.

Que. 38 Who was the Prime Minister when 3rd tier of government i.e Panchayath and Muncipalities had been
Constitutionalized?

Correct Option - 3

Chaoudhary Charan Singh1.
Chandrashekhar2.
Narasimha Rao3.
V. P. Singh4.
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Que. 39 If 'k' means '+' 'm' means '-', 'n' means '×', and 'p' means '÷' then 15 n 2 k 5 m 6 p 4 =

Correct Option - 3

161.
62.
67/23.
none of these4.

Que. 40 Five years ago, a woman's age was the square of her son's age. Ten years later, her age will be twice
that of her son's age. Find the present age of the women.

Correct Option - 4

25 years1.
24 years2.
20 years3.
30 years4.

Que. 41 If 0 is the zero of the polynomial

f(x) = 2ax2 + (a + 1)x - 5a then value of a is

Correct Option - 2

51.
02.
13.
none of these4.

Que. 42 A musical instrument with a single string attached to a Bamboo piece is called as

Correct Option - 4

Chimta1.
Drum2.
Damru3.
Iktara4.

Que. 43 Which of the following is incorrect with reference to the urbanisation process under British rule in the
19th century?

In the process new urban spaces called Civil Lines were set up, to accommodate Indian elites1.
For the British, the "Black" areas came to symbolize not only chaos and anarchy but also filth and
disease.

2.

Cantonments, hills stations were a distinctive features of colonial urban development3.
Stringent administrative measures regarding sanitation were implemented and building activity in the
Indian towns was regulated

4.
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Correct Option - 1

Que. 44 Find the word which is different from the other 3 options given below.

Correct Option - 2

Polite1.
Citizen2.
Impatient3.
Humble4.

Que. 45 To welcome rains ______ festival is celebrated in Haryana.

Correct Option - 3

Deepavali1.
Onam2.
Teej3.
Naga Panchami4.

Que. 46 The Islands of this archipelago have storm beaches consisting of unconsolidated pebbles, shingles,
cobbles and boulders on the eastern seaboards. Here the island refers to

Correct Option - 4

Andaman and Nicobar1.
Gulf mannar2.
Rann of Kuchchh3.
Lakshadweep and Minicoy4.

Que. 47 The values of x and y satisfying the equation (a - b)x + (a + b)y = 2a2 - 2b2 and (a + b)(x + y) = 4ab are

Correct Option - 1

1.
x = , y =

2ab − +a2 b2

b

(a − b)( + )a2 b2

b(a + b)

2.
x = , y =

2ab + +a2 b2

b

(a + b)(a + )b2

b( + b)a2

x = 0, y = 03.
None of these4.

Que. 48 Growth hormone in animals is secreted by

Adrenal gland1.
Thymus2.
Para thyroid gland3.
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Correct Option - 4

Pituitary gland4.

Que. 49 The age of Retirement of Chief Justice of Supreme Court is

Correct Option - 3

621.
642.
653.
664.

Que. 50 The Tajewala Barrange is located on the river

Correct Option - 1

Yamuna1.
Gaggar2.
Saraswathi3.
Ganga4.

Que. 51 Find the missing letters (?) from the options for
DEF, GHI, JKL, ?, PQR

Correct Option - 4

NOP1.
LMN2.
MMN3.
MNO4.

Que. 52 Cow slaughter in Haryana is punishable with ______ uder the Gauvansh Sanrakshan Law.

Correct Option - 1

Rigorous imprisonment ranging from 3 to 10 years1.
Rigorous imprisonment ranging from 1 to 2 years2.
Rigorous imprisonment of 6 months3.
Rigorous imprisonment ranging from 2 to 3 years4.

Que. 53 Which of the following is true about Home Rule League Movement in India?

it was first started by Annie Besant in India1.
This concept was brought from Germany2.
B. G. Tilak died while he was spearheading this Movement3.
This compelled British Rulers to come up with august declaration4.
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Correct Option - 4

Que. 54 Which of the following form an AP?

Correct Option - 4

1, 1, 2, 2, 3, 3, ...1.
0.3, 0.33, 0.333, ...2.
√2, 2, 2√2, 4, ...3.
5, 5 + √5, 5 + 2√5, 5 + 3√5, ...4.

Que. 55 Integrated Child Development Project has been introduced mainly to

Correct Option - 1

reduce infant mortality rate1.
increase child's confidence2.
reduce child labour3.
give job to ladies4.

Que. 56 European Union has its headquarters in

Correct Option - 4

Berlin1.
London2.
Paris3.
Brussels4.

Que. 57 During day, when the stomata are open, the transpiration pull becomes the major driving force in the
movement of water in the xylem.

Correct Option - 1

True1.
False2.
Transpiration pull is not related to movement of water3.
None of the above4.

Que. 58 Find the missing number in the sequence.
3, 5, 10, 12, 24, ?

221.
232.
253.
264.
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Correct Option - 4

Que. 59 According to a Legend, Nature came into being in Haryana because of the boon given by

Correct Option - 1

Brahma1.
Vishnu2.
Maheshwar3.
None of these4.

Que. 60 The distance between the points (- a, - a) and (b, b) is

Correct Option - 2

1. a + b
− −−−√

(a + b)√22.
2(a + b)3.
04.

Que. 61 Sunder Dass is a

Correct Option - 3

Jain poet1.
Hindi poet2.
Haryanvi3.
Urdu poet4.

Que. 62 Lala Lajpat Rai participated in Swadeshi Andolan from ______ district of Haryana.

Correct Option - 3

Sonipat1.
Panipath2.
Hisar3.
Rohtak4.

Que. 63 The sum of a two digit number and the number obtained by reversing the order of its digits is 121 and
the two digits differ by 3. Then the number is

47 or 741.
37 or 732.
25 or 523.
none of these4.
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Correct Option - 1

Que. 64 Metals which are good conductors of heat among the following

Correct Option - 1

Silver1.
Lead2.
Mercury3.
Zinc4.

Que. 65 Area of circle inscribed in a square of side 4 cm is

Correct Option - 4

π cm21.

2π cm22.

3π cm23.

4π cm24.

Que. 66 Anagpur Dam is also known as ______

Correct Option - 3

Dantiwada1.
Bakra Nangal2.
Gravity Dam3.
Chamera4.

Que. 67 The National Food Security Act, 2013 provides

Correct Option - 1

Food and nutritional security life at affordable prices1.
Antyodaya Anna Yojna2.
Both are right3.
Both are wrong4.

Que. 68 If 11th November fell on Sunday then 27th of November of the same year was on

Correct Option - 3

Thursday1.
Wednesday2.
Tuesday3.
None of these4.
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Que. 69 Change the given sentence into passive voice.
They had not done their work.

Correct Option - 1

Their work had not been done by them.1.
Their work was not done by them.2.
They have not done their work.3.
Their work is not done by them.4.

Que. 70 Change the given sentence into passive voice.
Whom did you laugh at?

Correct Option - 2

By whom was you laughed at?1.
Who was laughed at by you?2.
you were laughed at by whom?3.
Did you laugh at who?4.

Que. 71 Fill in the blanks with appropriate prepositions.
It is very different to enter ______ a partnership with a person you do not know very well.

Correct Option - 1

into1.
on2.
with3.
by4.

Que. 72 Fill in the blanks with appropriate prepositions.
A Banyan tree stands ______ the Yamuna river.

Correct Option - 2

at1.
beside2.
besides3.
on4.

Que. 73 Choose the correct form of the verb.
I ______ with the performance, but I got flu the day before.

had helped1.
was to have helped2.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Correct Option - 2

helped3.
was to help4.

Que. 74 Choose the correct form of the verb.
______ until midnight last night.

Correct Option - 4

I have read1.
I have been reading2.
I am reading3.
I was reading4.

Que. 75 Use appropriate modals to fill in the blanks.
Do not put off till tomorrow what you ______ do today.

Correct Option - 4

Would1.
could2.
will3.
can4.

Que. 76 Use appropriate modals to fill in the blanks.
I run fast so that I ______ catch the train.

Correct Option - 2

should1.
may2.
shall3.
will4.

Que. 77 Fill in the blanks with the correct options.
He doesn't have ______ money to donate.

Correct Option - 1

much1.
some2.
a little3.
many4.
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Que. 78 Fill in the blanks with the correct options.
Give me ______ time to decide the matter.

Correct Option - 4

a few1.
little2.
much3.
a little4.

Que. 79 माँ से ब�े को दूध िपलाया जाता है। इस वा� को कतृ�वाच मे िल�खए।

Correct Option - 1

माँ ब�े को दूध िपलाती है।1.

माँ ने ब�े को दूध िपलायी।2.

माँ ने ब�े को दूध िपलाये।3.

माँ ब�े को दूध िपलायी।4.

Que. 80 अिभ + उदय = 'अ�ुदय' यह कौन सी संिध है?

Correct Option - 2

�ंजन् संिध1.

यण् संिध2.

गुण संिध3.

वृ�� संिध4.

Que. 81 जहाँ एक ही �कार के �ंजनो ंकी बार-बार आवृि� से का� म� सौदंय� उ�� होता है, वहाँ कौन सा अलंकार होता
है?

Correct Option - 2

�पक1.

अनु�ास2.

�ेष3.

यमक4.

Que. 82 िन�िल�खत म� से सही वत�नी का चयन कीिजए।

िनयु�ी1.

िनयु��2.

नीयु��3.

िनय�ी4.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Correct Option - 2

Que. 83 सुमेिलत कीिजएः

अ आ

1. अठारह अ. 67

2. सडसठ आ. 52

3. बावन इ. 39

4. उनतालीस ई. 18

Correct Option - 4

1 - इ, 2 - आ, 3 - अ, 4 - ई1.

1 - अ, 2 - ई, 3 - इ, 4 - आ2.

1 - आ, 2 - इ, 3 - ई, 4 - अ3.

1 - ई, 2 - अ, 3 - आ, 4 - इ4.

Que. 84 'वधू' श� का ब�वचन �प है

Correct Option - 4

वधू1.

वधूए2.

वधुए3.

वधुएँ4.

Que. 85 लंबा है उदर िजसका = लंबोदर (�ी गणेश) यह कौन सा समास है?

Correct Option - 4

अ�यी भाव1.

ि�गु 2.

त�ु�ष3.

ब��ीिह4.

Que. 86 'मेरी आँखो ंम� दद�  है'। इस वा� म� 'दद� ' का पद प�रचय दीिजए।

जितवाचक सं�ा, �ीिलंग, एकवचन, कता�कारक, 'है' ि�या का कता� है1.

भाववाचक सं�ा, पु��ंग, एकवचन, कता�कारक, 'है' ि�या का कता� ह�2.

���वाचक सं�ा, �ीिलंग, एकवचन, कम�कारक , 'है' ि�या का कम� है3.

���वाचक सं�ा, �ीिलंग, एकवचन, करणकारक , 'है' ि�या का करण है4.
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Correct Option - 2

Que. 87 'जुगु�ा' िकस रस का �ायी भाव है?

Correct Option - 1

वीभ�1.

क�ण2.

रौ�3.

वीर4.

Que. 88 िन�िल�खत म� से आग का पया�यवाची श� नही ंहै

Correct Option - 1

वा�र1.

विह2.

पावक3.

अनल4.

Que. 89 'समझ' श� के साथ कौन सा उपसग� सही लगता है?

Correct Option - 1

ना1.

अ2.

िन3.

दु4.

Que. 90 लकीर का फकीर होना मुहावरे का अथ� है

Correct Option - 1

पुरानी बातो ंपर चलना1.

�ोध �कट करना2.

ब�त अिभमानी बनना3.

जो जी आये सो कहना4.
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